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#include <stdio.h>
#include <string.h>
#include <sys/types.h>
#include <sys/socket.h>
#include <netinet/in.h>
#include <arpa/inet.h>

int main(int argc, char xargv[])

{
struct sockaddr_in server;
char message[80], ip-address[16];
int fd;
strcpy (ip-address ,argv [1]); // 000 IpPOODOO0ODOODODO

fd=socket (PF.INET, SOCKSTREAM, 0); //

memset ((char *) &server, 0, sizeof(server)); // 00000000000
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server .sin_family=AF_INET;
server.sin_port = htons(5320);
server.sin_addr.s_addr=inet_addr (ip-address);

connect (fd, (struct sockaddr *) &server, sizeof(server));

while (1){
printf(” message:”);
fgets (message, 80, stdin);
if (strncmp (message ,” bye” ,3)==0)break;
send (fd , message, strlen (message),0);

}

close (fd);

return 0;
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#include <stdio.h>
#include <string.h>
#include <sys/types.h>
#include <sys/socket.h>
#include <sys/socket.h>
#include <netinet/in.h>
#include <arpa/inet.h>

int main(void)

{

struct sockaddr_-in client , server;

char read_str [80];

int fds, fda, length;

fds=socket (PF.INET, SOCKSTREAM, 0);

memset ((char *) &server, 0, sizeof(server));

server .sin_family=AF_INET;

server.sin_addr.s_addr = htonl (INADDRANY);
server.sin_port = htons(5320);

bind (fds, (struct sockaddr %) &server, sizeof(server));

listen (fds, 1);
length=sizeof(client );
fda=accept (fds, (struct sockaddr =) &client , &length);
while (1){
int rn;
rn = recv(fda, read_str, 80, 0);
printf (”%s” ,read_str);

}

close (fda);
close (fds);

return 0;
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SOCKET (2) Linux Programmer ' s Manual SOCKET (2)

oo
socket - 0OODOOOOO (endpoint) OO O OO
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#include <sys/types.h>

#include <sys/socket.h>

goooooog

00000000000 SOCKET(2)UOUOOOODO0O0O 2000000000000000O00000O
gooobDsin00oogg

SIN(3) Linux Programmer ' s Manual SIN(3)

oo
sin, sinf, sinl - 00 (QOO0) OO

oo
#include <math.h>

double sin(double x);

float sinf(float x);

long double sinl(long double x);
-lm J OO0 O0O0O0
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— bind()

— listen()

— connect()

— accept()

— send()

— recv()

— close()
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